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9,5: againt— against
51;;: reactime ; — reactime@@:;

921819 9226 and 93: Dif (1-2) — Diff (1-2)
SSD, , SSD,

99, and 116: s? = — s =

n N1
10%.7;:n — n. (5timesin the expression fdy(x))
106°% 2. — 7.

122" Therfore— Therefore

13%L: regession— regression

1412 logarithm of —

145,:blodtryk Mean — blood _pressure Mean

147 defineded— defined

1872 with which — with which one can test

187 reducution— reduction

192: Compare— Compare with

193 Table 4.9: [69.7, 100.3} [69.0, 101.0] and [11.49, 37.31} [11.49, 36.49]

193 Table 4.10: [73.4, 89.7} [69.0, 94.1] and [1.37, 1.80} [1.37, 1.81]

19%: alder*group  — age*group

203 dip1 —di — dj — diq

203 dpr1 — dp — djy — dp1

203" dy — dy—y — dp_1 — dy,

202 d;p1 —di — di — digq

203 dy — dy — dy — dy

204 Table 4.13: The data for the combinatlaght(high)andStress(highiare wrong.
The correct data are found in the last column of Table 3.3 on page 96.

207;: —40 cn? — —41 cn?



0.2

2253: Diagnostic plots shows- Diagnostic plots show
225: My are— M, is

2497 246 210—~7 246 220
2514 64.7949— 129.5897

2815 sample the we— sample then we
297 Section 6.10— Chapter 6

298 ¢z — ¢z

325,57 £(¥) — Pobs(¥)

325: 0.4950,0.5956- 0.4985,0.5956
326" that— than

376,: no row effect— no column effect

426% LINK=log; — LINK=log OFFSET=In _quantity;

452: example9 _4.dat — examplel0.4.sas



